#R T4
Mo
W [H
[a\]
[a]
~ [l 2 = o & a0 Moe S 0 W2 B H O Ol N Y MR R
[aN]
~ = N S (W) s w87 T oK TS T R R e
[a\]
N
~ ] = It 0 #H % 7 B 2 L
[aN]
~ = % NN gD (o) SR P INR JETRNNNT NN NN
<t (BE~) o (fE) N (Em) N
<
< ”J""“"”"""”““"“"“"""
N g:@mmm%m%immmmwmﬁmb;ﬁm%"%"%"w"t"@“f"m"&
—mmmd oo L S, J P — L B | SR R [P N M f R e mma b L _.»||||.M lllll nllflluu |||||
v m:m@mﬁmtm%m\mfm<” Y ! Y bl 2y
< o] G~y | T T T Lo ,nfﬁAwmufu .....
¥ wm,ommﬁmmﬁmﬁmfam@mnfm%mnmﬁmg:ﬁmamumﬁ?z
Min i il vl 2 iatmi oot (S4+)
! " ! ! “ " ! " " 2
(BEw) ~ [f2©)] H
< (B2 ~) H (B o) N
<
. #a mﬁm%;mﬁmﬁmfﬁmm;mamtmwm@;ﬁmmﬁ
M| Ee) | % i m%mmmﬁm%mfmLm%mmm;m@m@mnmém:.m&mummm&
<1 || | R A A R e e - : : : - : : -
Q0SS A S e a g ay e (S
“ ! ! ! ! ! “ " " A
(B ] D

(3 —H8)




mﬁwmmiym,ﬂmlmﬁawﬁ@m%?mam@mﬂﬂmiﬁwo
i iniKimiwins lginisiaini—lole] o
Biui<iol wimivitisigis vixoeilin xla
Mivialelsivieiginielioiwis i L 1 1 |
@islwi-faiuinl twiaioloiniol®m 2 ie| 4 =
FlEe o v isisiwio iRl {e 0 nia ® kv ialalt

o Hﬂ_fm%ﬁmzn@u%%uor%@#
dimisieimikiRnioloialaimiyiein vl 2lelm
EioiEielEInl {la e WiniBinic v
vielsiviviRimi ai<ia 4 ni® % & 800 s &
Wit iainisicieine |5

A

< (EE —) O (o) H (EE o) [N

~ | @

<t .

< (B2 <] Ay (Ew] BEOoL0 LD

(3—-8)

100

200



" 1 (7 1) (8, 64)

(F 2] (F 2) [ &P OXPHERE ]

FRE B

AC=¢ (cm) (t>0) &9 5,
ERLODEEZN2 THEIND,
BC=2AC =2¢ (cm)

(R 3)

1

(R 4] LT, AABC =—2—AC>< BC

1

1 2
= 2t><2l‘ 4

Wwzilo t?2=25

t>0%Y9 t=5
£o»T BC=2t=10 .- ®
Wzl Alw,u’) 45
Clu+5,4%, Blu+5, (u+5)?
XoT BC=(m+572—u?
WZIZOEY  (w+5%—u?=10
Q IoT 10u+25=10

Fhbb u=_§

o A3 9
N Lot A< 2,4>
wziz, EHELORT

y=2x+_2'41" kfciéo

1
[Fl:ﬁ 3] <°—'—2‘,'—4—>




3 4 A
Y 59 (7 1) 80 cm?
(f 2) (1) [ o B8] (2] [ BFoORSEHERE ]
FRZ A |
AOGJ & ADHK 28 ¢ E#HIM L EHCD ¢ OXRAEN,
AG=0H (g% , BEHRF]LERGH 0520 L35,

YmE ABFE /% mE DCGH X9,
E# BF LE# NO 3% FJM 23F & ABFE
& FHE DCGH 238> T TE HZH T,

OA=0D () kv
OA—AG=0D-0H ¥7:b% 0G=DH -0

LAOC=2/CDA 7bb £J0G=24CDA @ 8 BF & EHNO (2 FEFIM i o<
CE=2AC (&%) £V L/CDE=2/CDA - ® RPBIENDE

BF / NO - @

©@, @xv
£JOG= £LCDE ¥72bb LJOG= LKDH - @ *7, P ABCD /°vE EFGH it 7
. E#% BN L E# FO 12%&E FJM 25%¥& ABCD

if:, éHH: ZAQOC (ﬁﬁ) no Z.JOG= LHU & @J: U] EEE EFGH 1222 » T TX 55‘5,‘{45'6‘,
£HIJ= ZKDH E# BN & EHFO 1T FEFIM Eicdh-<T
&bl /ZIH]= ZDHK (hiTE#) o S T AT N
£oT, 180°~(£HIJ+ LIH]) BN/ FO - @

—180°— (LKDH + ZDHK) EoT, 2HORABFATTHD b,
Thbb £LGJO=ZHKD .- @ ZBFO =90° --.--. ®
£2T, @ 049, $xic, O, @ @XY,
180°—(£JOG+ £GJO)=180°~(£ZKDH + £HKD) M7 BFON i3 E 5 Th 5.,
Fipbb  LOG]= 4ZDHK - ® roT ZLNOF=90°ThHsdhd
O @ ®LYy, 4ZNOJ = 90°
130 & Z DFROBRENENE LV DD, F72 NO=BF=10 - @

E->T OG/ZIJI DY

ANOGJ=ADHK
MF:NO=FJ:0]J=FIl:GI=20:15=4:3
@zic @EY  FM= N =-‘-*§?— (cm)
s 10
(E=z) 3 cm
M| @ |CJ:0H=11:6 (79 3) 1000 o3




GB—8)

whoe =
EE& 5 e :
* £ DESFIE FAGRALRTE
A} A2 AY
(BIBEAD| <wfEE3x1> <xfFEx2> <HFFEXI> 4 4 4
i
{<Question 1> 4
(RAREB) - : —
< Question 23> X E] 220 T, #BREDCESFICRL l— 4
12 [} I [}
17 (1) == b 7 (s 7+ (- 4 2 I' 2 2 2
k& -
[R32) ™ 4
(p13) S 4
P
[f4] Many animals and birds will have to move to different places because they will lose places to live,
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1 changed how I spend the weekend. 1 used to wake up late but now 1
~—* wake up early in the morning and finish my homework before lunch.  ———————
Now I have more free time. (34 words)
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,,,,,,,,,,,,,, —~ There are three students walking next to each other. There is a man behind U
them and he wants to pass them because he is in a hurry. The students should
~~~~~~~~~~~~~~~ stay on one side so other people can get through. It is important to think about +————
other people when you are in public places. (54 words)
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